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OSRX NTV B8 0.03 m 0.04 m 0.05 m 0.08 m 0.1 m
X — A — PN — CAT PN — PN — PUN—
e = SV08 301.5CR Vio17 Vio20 Vio27
2 0 = 9 = N mpN mpN JA dA
2 &t B B E B kg 890 1,500 1,620 1,990 2,850
£ R<E #H& HB>A D 2,600 3,470 3,450 3,865 4,190
2 8<8 #% B>8B D 1,390 2,320 2,370 2,410 2,510
@ ES 8 C D 780 1,340(980) | 1,280(950) 1,380 1,550
E| B & P O BB D D 600 750 1.050 1.160 1.310
# b £ E D 1,050 1.210 1.320 1.610 1,710
Z ™ w F D 180 230 230 250 260
N v b8 8 m 0.03 0.04 0.05 0.08 0.1
N 7 v b+ 186 D 350 450 450 490 490
B KX # H &RH D 1,500 2,170 2,200 2,300 2,600
B IBAEBRHE ORI D 1,260 1,720 1.850 1,920 2,200
B X EH ¥ &J D 2,730 3.710 3.710 4,030 4,380
gl & X B B BK il 2,750 3.570 3.690 4,080 4,400
R X% Y 7 aL il 1,950 2,580 2.630 2,800 3,000
RNk O¥*E " 1,180 1,420 1,535 1,650 1,900
B ] AE h 3 30 30 - 30 30
E I pad E kn/h |§37K1.8/840K23|5431K2.1544K225471K28
e E 18 ss) #) PS/m | 10.56/2,400 | 15.4/2,100 | 13.7/2,200 | 19.56/2,400 | 21.9/2,200
?I:F ES B a 780 1,340(980) | 1280(950) 1.380 1,550
W= = 180 250 235 295 345
ML OB E 0 9.7 22 20 28.5 42
Z % — > - - - - -
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